=

HimlT B



I%Pﬁ?éﬁ%j: (1_1)

= =
# = 5 i | =
a—KN4& WmE K T+ & § g =® B 2| WE
(+T)
% K o
T E 15.4 =15.40 15.4
L S £ | I BH0.45m3 m3
Ik fib Hh
25.10+24.79 =49.89 49.9
Moo | R T BH0.45m3 m3
6 6
WX 8 K& B 90H By AN e
6 6

W Bk RGER B - i T 22X1,524X3,048 ¥




Fefm T 5 (FROKIE  BbkA ) T (L))

(1/2)

i 7R £ O e H T
Hl Vo i A MBS W i A HERfE IRFE i i A B W A HERfE IRFE e
(m2) (m2) (m) (m3) (m2) (m2) (m) (m3)
®)+1.0 0.00 0.00
0.00 1.000 0.00 0.30 1.000 0.30
® 0.00 0.60
0.00 1.000 0.00 1.90 1.000 1.90
@) 0.00 3.20
0.00 5.500 0.00 2.40 5.500 13.20
D 0.00 1.60
0.00 0.000 0.00 0.80 0.000 0.00
0.00 0.00 0.00 0.000 0.00
0.00 0.00 0.00 0.000 0.00
£t 7.50 0.00 7.50 15.40




SEERRIT 558 (PE AU bR 5 1) (1/3)
. K i M =
Hl V7 T S84 T A A UNT W iF P SR T A A IFE g
(m2) (m2) (m) (m3) (m2) (m2) (m) (m3)
@®-1.3 0.00 0.00
0.00 0.700 0.00) 1.84 0.700 1.29
@ 0.00 3.68
0.00 2.000 0.00) 4.30 2.000 8.60
® 0.00 4.92
0.00 2.000 0.00) 4.33 2.000 8.66
® 0.00 3.74
0.00 3.500 0.00) 1.87 3.500 6.55
®+3.5 0.00 0.00
0.00 0.00) 0.00 0.000 0.00
0.00 0.00) 0.00 0.000 0.00
£t 8.20 0.00 8.20 25.10




SEHRIT S5 (LAY MM L T) (1/4)
\ o il i 7
R rEAs | E A BB RS rEAs | E M BB RS %
(m2) (m2) (m) (m3) (m2) (m2) (m) (m3)
® 0.00 0.00
0.00 5.500 0.00 1.35 5.500 7.43
@ 0.00 2.69
0.00 3.000 0.00 2.92 3.000 8.76
0.00 3.15
0.00 2.000 0.00 3.39 2.000 6.78
© 0.00 3.63
0.00 1.000 0.00 1.82 1.000 1.82
©+1.0 0.00 0.00
0.00 0.000 0.00 0.00 0.000 0.00
0.00 0.00
0.00 0.000 0.00 0.00 0.000 0.00
0.00 0.00
£t 11.50 0.00] 11.50 24.79




2B KB AT R L) (2-1)
| —]|
# B =
a—HN4% HE K T & =® B 2| WE
(&#)
K5 15.8+10.66 =26.46m 26.5
TIIRPNERY T F L WEETA ¢ 150 m
K5 8.8 8.8
SRS L T Z IR 3V EEPERS GNGWA ¢ 150 m
EFYr vk, s |4 4
i i i I WS ¢ 150 HHL
TILVTHTHGE RV b v—AF | | 1
i K Mk T A| SUS304 WF150A HH
PP/ MPE X PE) |1 1 [#58AT A
R N S i = WEF ¢ 150 L Ava7
EF— AR 45° |2 2
i % fk F A|GL ¢ 150 fRiEIN—fT FH
EF— AR 45° |2 2
i % Kk F  B|GL¢ 150 fRRA N— il
EF—{ARIgh % 45° |1 1
i % fk F C| WL 150 flizak L
1 1
7 5 v K $ 200X ¢ 150 J[E
7.5k 1 1
7 T v Y fk FE M $ 200 &
7.5k 1 1
7 T v Yk FE M ¢ 150 &
BFF—X BFY b, 79207574 | | 1 |fssph A
F  — X Hk FE|Lr—XFGCTe 150X ¢ 75 FH PRI
7.5k 1 1
A A E RS ¢ 25 pAe
SSA00VA R HELER A~ i | 1 1
XK S - X R A H HEf, /S R% =
WAk 3 |4 4
b & TT v — M16 X 170 N
W77 —h 26.5 26.5
paiil ok v — b W=150 m
26.5 26.5
W OoR T = 7 W=30 m
26.5 26.5
=T 474 —T. m




2B KA R T.(3%) (2-2)
| —]| —
# = 5 ==
a—KN4 HE K T & H = B 2| WE
(55%)
K5 26.46 26.5
iz 4iE iz T WEETA ¢ 150 m
B 8.8 8.8
=4 I E T GNGWA ¢ 150 m
EFYr vk, s |4 4
BB O F T 6 150 T
EFY 7ok, g |1 1
T S A S ¢ 150 T
PPYaA R, Afigass |1 1
i K f F B T ¢ 150 T
EF—&Adhe |2 2
i & %k F A T ¢ 150 {RIEHAS—fF (£
EF—&Adhe |2 2
i & #k F B T| ¢ 150 {RIEHN—4E T
EF— {410 ih & 1 1
B F C T ¢ 150 ffighst T
7.5k 1 1
7 T v Y FE L $ 200 H
7.5k 1 1
7 T v Y FE L $ 150 H
BFF—X BRY b, 75207574 | | 1 |fssph A&
F — X fk F T[L—XF ¢150X 75 & T IR
7.5k 1 1
A AEELF I T b 25 &
1 1
ORGSR B T T
1 1
A - N - ¢ =
A 0.5X0.5%0.3 0.1
I 18-8-40BB m3
(0.5+0.5) X 2% 0.3 0.6
vl i T LS m2
26.5 26.5
HEER AR S — MR T m
26.5 26.5
BEHRT T AT ¢ 150 m
26.5 26.5
=T 474 —T. m




2. BKE L TR

(2—3)

£ = =18 B =
a—f 4 B IR NI Hianl % & fii %
R N i o A D OF e 30 S S IS N S TOM o |
A - N S S WEETA ¢ 150} WEETA ¢ 150 E
) =160m | L=lUSm 4 bbb e
el WA | 11334 22550 S Nt RO AN IS Scest SUL: 2215 { IO PR SQ;QE,____
U S N & | I BHO.28m’ — !
.. BHO.28m3 A% | 420 i . 3.8l i Tio_. 8.011 o |oao. 8;95____
b A e T WL L5 = :
I 7= SR U X2 VAL L=l | 200
- A S R > S BH0.28m3 _ :
_.BHO.28m3 LAb | 461 i . S O S IS SN R st SN 8.72| o |eene- lQ;QiL____
Bt om o®m T smum = ;




2. BKE TR (2—4)
# & =1 ] =

a—} % L) ok SF ik Bl % & i %
e WEETA O 150 | e
+ TO-1 D.P0.9 E
SSUSUSSUURR S L= 260 m B3410.0 ] e
el HEEIBGA | 060 X 118 X 16.0 = 1133 ... T I 11-_3_3_1____
B oW W Hl T BH0.28m3 5
__BH0.28m3 gtk | | (0.60 X _0.48 - 018 X7,/ 4 ) X 160 S A20 ... I 4200
) A % T YEL 15 :
el P ] 060 X 070 X 160 . . 8.T2 ... NNEN @;7_2_5,____
A S-S BH0.28m3 !
.. BHO0.28m3 t#Y | L e 1Y S 21 S NNEN 4610
B+ 4 # T IR AL

_______________




2. BKE L TR

(2—5)

e

a—} % L) ok SF ik HAr|l % &= i &

e WEETA O 150 | e

+ TO®-3 D.P1.41 E
NSRS R L= L5 m ol

L HREVERA L ( L1614 + 0.60 ) > _1.69 = 2 X115 ... __. 2151 . T Zl;lei,____

BB R HI BH0.28m3 !
__BHO.28m3 fbk |((0.888 + 0.60 ) X 048 = 2 - 018 Xz / 4) X115 =384 N 3.810

Wb A % AN ) :
el G S ( L1614 + 0888 ) X 1.21 = 2 X115 . ... __. = ATAL . T l?f&li,____

e BH0.28m3 ;
.. BHO.28m3 1#b | 2161 - 1Tl . 25§ S N 411

B+ o B Bl ALER :

_______________




3EKI - TEbMAE IR T (3-1)
=
# =
a—HN 4 Fie K <+ & § = | s 2| mE
(&)
SUS3048L /X)L T7 Fpy T IATR| 2 5
A . % 636 1.=2.2m i
SUS3048L /X)L T7 Fpvy 7 IAT] 1 1
A . % 632 1=2.4m i
SUS3048L X)L T7 Fpy 7 IAI| 1 1
A . % 632 1.=2.3m i
FHekad 7.5k 2 5
7 4 /X =] $ 200 o
EHH 7.5k 2 5
VI Ry — LY RH $ 200 I
4 1
7 7 v T fk F M » 200 e
FEERT 4 7)
B il B KA FRY) H
FRP#! ZE~FiEE M) [2 9 |[emremmts
A fL 2| FK-1020X1020 &
FRP#! Z~FEEER) [1 1 |smemmtt
A fL 2| FK-1100X1100 &
FRP#! Z~FEEE) [1 1 |smammt
A fL 2| FK-1820X1020 &
FRP#! Z~FEEM) [1 1 |smammt
A fL 2| FK-1600X1200 &




3R/ LD AR IH T

(3-2)

= )
# = R R =
a—HN4 ME K <+ & & " =X By B E| #E
(55#5)
52.3+97.9 150.2
moJE P #H T m2
A 1.5X2.5 X 6+((1.0+1.5+1.5) X 2.5 X 2)+1.5 X 1.0 X 2+1.5 X .5 X 2+1.5 X 1.5 X2-0.9 2-1.0 X 1.43 =52.3
TLRD U (0.3+1.37+0.3+5.05+0.9) X 3.05 X 2+0.5 X 3.05+1.85 X 3.05 X 5+0.5 X 0.3 X 2+(0.5+1.85) X 1.2/2 X 2
+(0.3+5.05+0.9) X 1.85 X 2-(0.8 X 0.8 X 2+0.8 X 1.64) =77.9
B PA 5 A8 0.28X0.28X0.15 X4 0.1
M ¥ He BT 0.284 X0.15H m3
/NS 0.40>0.40x0.20 X 4 01
a7 — KT 18-8-25BB m3
(0.4+0.4) X 2 0.20 X 4 13
ut) s T m2
AV =T FHIALA [2X4 3
bl T7 v H— T D10X200 K
1.24m X 0.995 X4 4.94
E7S i) T D13 ke
4 4
7 7 v v Mk FE T ¢ 200 N
28 2 2
i 8 Fp B & T ¢ 200 H
4 4
b PH & & & T B
FRPEL 25 ~EGEN) |2 2
A L % B & T| FK-1020x1020 (5
FRPEL 25 ~EELN) |1 1
A L % B & T| FK-1100X1100 (5
FRPEL 25 ~EELN) |1 1
A L % B & T| FK-1820x1020 (5
FRPEL 25 ~EEN) |1 1
A L % @& & T| FK-1600x1200 (57




4 B8R EAT R TR ) (4-1)
= o
M = 5 " ==
4 WME K T & H " = By 2| B#E
(&)
ZOfTES SO [2+1+9+6+4+4+2+4=32+6=38 38
KA RYFL ¢ 150 X5.0m ZN
2.3+4.0+2.6+2.5+4.9+3.8=20.1=64<
HEE
1.1+2.4+1.7+0.4+0.5="6.1
e
1SO 2+1+1+1 0.61 X5 3.05 5
EF J &% -~ » F 6 150 X 45° ]
1SO [+1+1+1+1+1 0.53 X6 3.18 6
EF A &% N v F| ¢150x22° 1/2 ]
1SO 1 0.45 X1 0.45 1
EF ] =% ~X v R ¢ 150X 45° e
1SO 1+1 »150 0.50 X2= 1.00 150 0.40 X2 0.80 2
EF W % F — X 6 150X ¢ 150 ]
1SO 1 #150 0.65 X1= 0.65 75 0.28 X1 0.28 1
75 UHEE ST —X 6 150X ¢ 75 ]
1SO 1+1 0.45 X2 0.90 2
ERN & Ot a—4— 6 200X ¢ 150 ]
1SO [+1+1+1+1+1 6
EF Y 4 v b ¢ 150 &
1SO 1+1 0.44 X2 0.88 2
EF 7 5 v ¥ B % ¢ 200 JE]
1SO 1 0.34 X1 0.34 1
EF 7 5 v ¥ % ¢ 150 JE]
2 2
7 5 v Y M FE M ¢ 200 HH
1 1
7 5 v Y M FE M ¢ 150 HH
1 1
AV ) 075 HH
1+1 1.02 X2 2.04 2
PEFRL 11447 h e — L) 4 150 A
AN AGER 1 1
7259 (o TS ) SUS304 7.5k e
L N—= H = 10cm |1 1
i B R ¢ 75 I
1.=0.20m 1 1
27 5 v T EE DCIP ¢ 75 I




4 B8R EAT R TR ) (4-2)
= =
M = 5 ==
O—KN 4 WME K T & H = B\ BE| B

BT 3E H 2 2

- - S| IR HHL
ATIEFCDE00X 450 |1 1

LRI A H=900 F
P7I4—h 197.45+2.04=199.49 199.5

O O v — b W=150 m
199.5 199.5

W W OOR T — 7 W=30 m
199.5 199.5

=74 70A4%— m




4B K EA R LR ) (4-3)
= =
ol = a =
a—KN4% M R T & &t =® B BB | HE
(F#) _
RS 32X5.0+20.1+6.1+11.25=197.45 1975
ARV F LR L ¢ 150 m
HEEE 3.05+3.18+0.45+1.00+0.800+0.65+0.90+0.88+0.34=11.25
¢ 150
12 12
RV FL o BHH T ¢ 150 A
EF (10#£F) |2 P
RV FLUEHF T ¢ 200 s
EF (10fkF)  [38+5+6+1=50 50
A= F v T T ¢ 150 .
EF QO#kTF) 1+2+6=9 9
Rl = s B ¢ 150 .
2 2
7 v T ik F T ¢ 200 O
1 1
7 7 v M FE T ¢ 150 O
1 1
7 7 v T M FE T 675 O
1 1
77y WAL T ¢ 200 O
1 1
77y WAL T ¢ 150 O
Ttk 2 D)
(o) I (s 1 A $ 150 B
2 2
O KB RE T A-BE i
1 1
% KO P OE T $ 25 H
1 1
2R IR H B E L Yl
199.5 199.5
o i m
199.5 199.5
EWART — S A T ¢ 150 m
199.5 199.5
By —F 1 FIAY— T m
VP# 199.5/3=67 67
BE R B itk 9 ¢ ¢ 150 O




(4-4)

= =
M = 5 ==
O—KN 4 WME K T & H = B\ BE| B

1 1

R | S~ ¢ 25 e
WL = L& T 199.5 199.5

AL L ¢ 150 m
e & B Lk F 4.2 4.2

FhA AL ¢ 200 m
= 199.5m( ¢ 150HIVP%) X 6.561kg/m = 1308.92kg 1,309

BT TAT v I FEAL by e kg
4.2X30.1=126.42 126

B8 o 4 kg
1 1

iE fiine #| 4tF-1H 10kmFET =]




4. BKELT(THR) (4—5)
% = &t (-1 =
a—p 4 i} R NIRER S HAl B & i &

S L TO & TO2 k TQ ik T@2 L ll: Tof i |

Mok % i @& + T HPPE ¢ 150 | HPPE ¢ 150 | HPPE ¢ 150 | HPPE ¢ 150 !
R L=175.0m &  L=14.3m__i | =6.2m__i | L5 500 N SN SN SRS SO N AU
L dEHIBGA |0 123.90 G 1278 ¢ 1023 & 6.49 4 4 i =i 193Alf sl 159;95,____

- A S - N : | e BHO.28m’ = ;
. BHO0.28m3 Ak | 45.95 i . 3.7 4o....2.06 ] 16 o Th82920 e 59;95,____

b A B T Pl xHH) = :
s A ] 7350 . 8.67 i ..8:02 4 524 b T 9943 100.0)

- A S R >SN BH0.28m3 -
. BHO0.28m3 _L#b | 50.40 i . 411 4o 2.2l 4 ] Les 4T 81T e 60.0; ..

53 + AL H T B AL =




4. HKE L T(THR)

(4—6)

e

a—} % g ok SF ik Bl % & i %

e HPPE O 150 e e

+ TO-1 D.P0.9 E
SSUSUSSUURR S L= 0I5 M ]

o HREURA )0 0.60 X LA8 X 175.0 ... =.123.90 . - ____123;5295,____

BB R HI BH0.28m3 !
.. BHO.28m3 At __ | __ (0.60 X 048 -~ 018 *X 7w,/ 4) X 175.0 4595 .. T 45.95.

{23 N B YL £ T E
el AL ] 060 < 0.70. X _175.0 ... = 1350 . T ?3-_5295,____

R A BHO.28m3 ;
.. BHO.28m3 Ay | 123.90 - 7350 .. =.5040 .. T 50.40:

kOB m B35 AP :

_______________




4. HKE L T(THR)

4=7)

e

a—p % i RN RS Al % & i %

B I X2

+ TO-2 D.P1.21 :
USSR U Lo A3 M) e
o MREURA )0 0.60 X149 X 143 ... = 1208 . T 12-_7_85,____

BB R HI BH0.28m3 :
.. BHO.28m3 At __ | __ | (0.60 X 048 -~ 018 *X 7w, /4 ) X 143 O L R N 3.75.

{23 N B YL £ T E
el AL ] 060 < L0l XA 2L X S N 8-.@?5,____

A A BH0.28m3 ;
_.BHO.28m3 60 | . L e L 25§ S N 411

5 + L HH B e i
o S IR IO

_______________




4. HKE L T(THR)

(4—8)

e

a—§ £ g RN S Al B =& i %

PR B 100

+ T®@-1 D.P1.27 E
R R O SRR RN SRS
L HREVERA L (. 1530 + _0.60 ) X 1.5 = 2 X 62 ... __. = 1023 . N 1023

BB R HI BH0.28m3 ;
__BHO.28m3 fbk | ((_0.888 + 0.60 ) X 048 = 2 - 018 Xz / 4) X 6.2 = 2056 N 2.06 ___

Wb A ® YEL 151 :
el G o e (. 1530 + 0888 ) X 1.07 = 2 X 62 ... __. =802 . N 8;92?..---

B o o R BH0.28m3 !
.. BHO.28m3 A0 | 1023 - 8.02 . =221 . N 2-_2_‘1_5,_ -

53 + AL HH B :

_______________




4. HKE L T(THR)

(4—9)

= = & B =
a—p % g R SF Ik B % & i &

CHPPEOISO |

+ T®-2 D.P1.40 '
R AU e 22 B B I O
el HEHIBNA | (_1.608 + 0.60 ) x 1.68 = 2 X35 =649 ... N I @-.49;.---

(i T S S | BHO.28m3 :
__BHO.28m3 Kbk |(( 0.888 + 0.60 ) X 048 = 2 - 018 *Xm/ 4) X 35 __ = 1161 NNEN l-_l_féi,____

2 A % BEL IO =
el G o e (_1.608 + 0.888) X 1.20 = 2 X 35 ... =524 . T R 5.241

- e BH0.28m3 ]
__BH0.28m3 t#Y | 6.49 T 524 . s LS .. N I 1;2_55_____

5 + L bt} B e :

_______________




5.BERROK BT

= o
M = 5 ==
a—KN 4 WmE WK+ & H = B\ BE| B
(5

5.0 5.0

BE B¢ % M Xk T 200A m
Co 0.5X0.7X0.5+0.7X0.7X0.5 =0.42 0.4

& W B BT A m3
BHO0.28m3 Co 0.4 0.4

o 7Y — b 3E T 2t—12.2km m3
0.4 0.4

a2y ) — by m3
30.1 X5.0m=150.5 150.5

. VI A - kg

(5-1)



o

Gl

T

LA

BE

® R <+ &

GE )

4.8

B E Bk bR TE G

12mPIAN 40km¥E T 4.8
22X 1,524 X 3,048 ~64¢




